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QUESTION 1

Which of the following lookup functions are available as standard functions in the graphical message mapping tool?
(Choose two)

A. RFC Lookup
B. EJB Lookup
C. ESR Lookup
D. JDBC Lookup

Correct Answer: AD

QUESTION 2

What are the key capabilities of SAP NetWeaver Process Integration? (Choose three)
A. Connectivity

B. Mapping

C. Routing

D. Master data management

E. Multi-channel access

Correct Answer: ABC

QUESTION 3

Which setting does SAP recommend for the delivery mode of inbound processing in a ccBPM process without
correlation?

A. Buffering Possible

B. Without Buffering

C. Without Buffering (Obsolete)
D. Buffering Auto-Delete

Correct Answer: B

QUESTION 4

Which step types can be used as the first step in an integration process?
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A. Block
B. Receive
C. Wait
D. Send

Correct Answer: B

QUESTION 5
You use an asynchronous-to-synchronous bridge in your integration process.

What happens to the quality of the service descriptor in the SOAP header when a message is processed through the
Integration Engine?

A. It changes from Exactly Once (EO) to Best Effort (BE).

B. It changes from Exactly Once (EO) to Exactly Once In Order (EOIO).
C. It changes from Best Effort (BE) to Exactly Once (EO).

D. It changes from Best Effort (BE) to Exactly Once In Order (EOIO).

Correct Answer: A
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